SM4EEALRAKEEKERNEHER

1 AHRAKE
(1) ANOBRORECHET HRIFEEERE

Ee== =T
R st 1’52“;“' T 7Bi s
HEIHLA mg/L |<0. 0003[<0. 0003[<0. 0003 [<0. 0003 0.003LAF
2T mg/L <0. 1 <0.1 <0. 1 <0.1 BREINhEWNT &
0 mg/L <0.001] <0.001[ <0.001| <0.001 0.01LLF
AN RA=WN mg/L <0. 002] <0.002[ <0.002| <0.002 0.02LLF
i mg/L 0. 001 0.002| 0.001 0. 001 0.01LLF
#kER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 0.0005LLF
T ILEILKER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREIhGEWNT &
PCB mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREINhEWNT &
scorooirsay mg/L <0.002] <0.002] <0.002| <0.002 0.02LLF
mig{k kR mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
1, 2=Y9RpQIT4Y mg/L  [<0. 0004[<0. 0004{<0. 0004|<0. 0004 0.004LLF
1, 1= IFLYy mg/L <0.002] <0.002] <0.002| <0.002 0. TLF
PR—1, 2=o508ITFL>| mg/L | <0.004| <0.004| <0.004| <0.004 0.04LLTF
1, 1, 1—kUsBOpIT42> mg/L <0.01| <0.01| <0.01| <0.01 1T
1, 1, 2—hkUYBOpOITA2> mg/L  [<0. 0006(<0. 0006{<0. 0006{<0. 0006 0.006 LA
rysooTFLY mg/L <0.001] <0.001| <0.001| <0.001 0.03LLF
TS0 FLY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
1, 3—4spp7JAaRy mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
FOS L mg/L |<0. 0006(<0. 0006<0. 0006 {<0. 0006 0.006 LA
Ry mg/L [<0. 0003[<0. 0003{<0. 0003{<0. 0003 0.003LLF
FARUALT mg/L <0.002] <0.002] <0.002[ <0.002 0.02LLF
Y2 mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
LY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
RREEERUERSEER | el | L7 L2| 22| L6 1050
A0FE mg/L 0.15 0.09 0.09( <0.08 0.8LLF
F5% mg/L <0.1 <0.1 <0. 1 <0.1 1T
1, 4—SF%Hy mg/L <0. 005] <0. 005 <0.005[ <0.005 0.05LLF




T4 FELFRAKEFKERERER
(2) HEBREORLICHETIRBEEES
7

N ; BODy, | N-Hws | SSwa | T-Nogs | TP | T-ZNse D0y PN
S A 3 Hse X2 %3 x4 %5 6 x7 8
kmd  |RERRE|MEA| Pha o e/l | e/ | me/L) | /L) | me/l) | (me/L)  [CRPN/100mL)
68| 7.4 4.8 — 4 — — - 2.5 290
- 8A| 1.5 4.6 — 8 — — - 3.7 3,500
THH 11A] 7.5 6.6 — 7 — — - 8.1 4,900
28| 1.6 6.1 — 8 — — - 11 1,700
68| 1.6 3.4 = 5 = = = 2.7 14, 000
e 8A| 8.0 55 = 6 = = = 8.1 82, 000
RRRFKE  EEHE 11A] 7.5 4.4 = 5 = = = 4.5 66, 000
28| 1.6 9.1 = 10 = = = 52 62, 000
68| 7.9 45 — 5 — — - 58 510
8A| 8.0 2.5 — 8 — — - 59 1,000
S
R8E A 80 21 = al = - - 7.0 600
28| 1.9 3.6 — 2 — — - 7.8 910
68| 7.8 3.1 <0.5 6 = = = 8.1 140
s 8A| 8.0 2.1 <0.5 14 = = = 58 220
l
241K F 11A] 8.0 2.3 <0.5 7 = = = 12 150
28| 8.0 2.7 <0.5 6 = = = 10 290
4
gl 68| 1.9 7.8 <0.5 15 — — — 12 30
. 8A| 8.0 2.8 <0.5 18 — — — 8.1 360
|
4 #IkF 11A] 8.2 2.6 <0.5 3 — — — 13 120
28| 8.1 1.5 <0.5 3 — — — 11 75
68| 8.4 5.2 = 13 = = 0.003 12 110
8A| 1.9 1.4 = 7 = = 0. 005 58 1,000
il AR 1A 7.9 2.2 = 7 = = 0. 006 7.9 1,800
28| 8.0 2.7 = 6 = = 0. 005 9.6 1,100
68| 1.6 2.6 — Al = — — 8.2 100
o 8A| 1.9 2.7 — 3 — — — 8.5 420
bk B b
FRER AT 75 [ 25 = al = - — 7.9 17900
i 28| 1.7 4.3 — 6 — — — 11 750
= 68 7.6 3.3 — 2 — — — 4.6 1, 400
8A| 8.2 1.6 = Al = = = 12 1, 400
=
SR R s 54 = 5 — - - 1 660
28| 1.9 2.9 = 4 = = = 13 2,800
68| 1.8 2.7 — 18 — — — 9.5 120
- 8A| 8.1 1.5 — 22 — — — 10 170
Hia 118 7.9 1.1 — 4 — — — 13 290
- 28| 1.7 1.2 — 3 — — — 12 400
H 68| 1.7 2.6 = 16 = = = 9.1 1,400
o 8A| 1.9 2.4 = 21 = = = 7.6 1,000
Bl 118 7.7 1.0 = 3 = = = 10 320
28| 1.5 1.1 = 4 = = = 11 220
68| 1.2 2.9 <0.5 3 — — — 58 600
- 8A| 1.6 1.4 <0.5 3 — — — 6.0 2,300
= 118 7.4 2.2 0.5 3 — — — 7.0 470
e — 28| 1.6 3.0 <0.5 2 — — — 8.7 780
Ciatall 68| 80| 27| — 8| — — - 12 240
8A| 9.1 1.7 = 1 = = = 18 970
& 1A 7.9 1.3 = 2 = = = 11 610
28| 1.8 2.0 = 2 = = = 13 89
68| 7.4 4.2 <0.5 4 — — — 4.1 22,000
. 8A| 8.1 4.3 <0.5 3 — — — 10 | 370, 000
MHEE e 7 85 0.5 ] - — - 7.2 | 40,000
28| 1.9 3.8 <0.5 6 — — — 8.9 3, 600
R 68| 1.7 55 <0.5 10 = = = 9.4 3, 800
8A| 8.1 4.6 <0.5 21 = = = 7.4 21, 000
RANIE EIEN 53 <0.5 3 = = = 12 2,100
28| 8.0 4.8 <0.5 3 = = = 10 2,900
68| 1.9 9.5 — 11 — — — 75 56, 000
- 8A| 8.1 1.8 — 3 — — — 7.8 850
HRiE 118 7.9 2.3 — 2 — — — 7.6 780
28| 8.0 2.0 — 4 — — — 9.3 830
R 68| 8.0 4.7 = 9 = = = 7.6 640
~ 8A| 8.2 2.6 = 8 = = = 7.2 2,100
REH 118 7.9 4.1 — 5 — — — 6.4 1,900
28| 8.1 1.9 = 2 = = = 8.2 930
BAE 9.1 10 <1 22 — — 0. 006 18 | 370,000
B/ ME 7.2 1.0 = 1 = = 0. 003 2.5 30




SM4EEALRAKEEKERNEHER

14 i3
COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G T_Zn.:.7 DO.:.g j{ﬂ%%ﬂ
K& |SEAS|AEA| pH = a a a = a =
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) (CFU/100mL)
6H 7.5 12 - 23 0.99 0.16 — 1 160
8H 7.1 9.4 - 16 1.1 0.31 — 4.7 300
sthim ] m!
1A 7.4 7.0 - 13 2.1 0.19 — 6.6 900
2H 7.4 7.1 - 10 2.1 0.18 — 10 760
6H 7.6 12 = 23 1.1 0.17 = 7.1 6
8H 8.6 13 = 34 1.0 0.14 = 9.6 4
E/ 07 o
1A 8.1 12 = 13 0. 96 0.11 = 10 3
2H 7.9 12 = 16 0.98 0.13 = 12 <1
6H 8.0 20 - 36 1.5 0.24 — 8.6 410
8H 1.4 23 - 53 2.2 0.42 — 3.2 26
T3 s i m!
1A 8.5 23 - 4 1.7 0.40 — 15 94
2H 9.1 25 - 49 2.3 0.42 — 19 82
6H 1.3 6.1 = 9 2.5 0.15 = 4.4 1,500
8H 7.3 7.1 = 8 2.8 0.30 = 1.9 1, 800
RIFB B O
1A 1.1 5.0 = 1 2.5 0.13 = 9.9 1,200
2H 1.3 5.6 = 8 3.0 0.14 = 9.5 9, 700
6H 9.9 51 - 56 1.9 0.17 — 10 5
8H 10.1 51 - 66 3.5 0.20 — 18 65
FXRith B0
1A 9.4 13 - 11 0.78 | 0.069 — 1 4
2R 9.1 22 - 28 1.5 0.12 - 13 69
RKAIE 10. 1 51 = 66 3.5 0.42 0.00 19 9,700
=/IME 1.1 5.0 = 1 0.8 0.07 0.00 1.9 3
%1 pH - KEMVEE
%2 BOD -+ £¥MLEMBREREE
3 n-H - A HEEYME S
X4 SS - FEME=E
X5 T-N - RERSEHE
X6 T-P - BRYASEHE
%7 T-In--2ENEHE
%8 DO - ATHMFREFRE

%9 COD --- {LEMEBERERRE



